
問）∫ π
3

0 tan7θ dθを求めよ。　

∫ π
3

0 (tann+2θ + tannθ) dθ =
∫ π

3

0 tannθ(1 + tan2θ) dθ

=
∫ π

3

0 tannθ(tanθ)′ dθ = [ tan
n+1θ

n+1 ]
π
3
0 =

√
3
n+1

n+1

In =
∫ π

3

0 tannθ dθ とおくと

In+2 + In =
√
3
n+1

n+1 より　 In+2 = −In +
√
3
n+1

n+1 (n ≥ 1)

n = 1, 3, 5 と代入すると I3 = −I1 +
√
3
2

2 …(1)

I5 = −I3 +
√
3
4

4 …(2) I7 = −I5 +
√
3
6

6 …(3)

(1)(2)(3)より

I7 = −I5 +
27
6 = −(−I3 +

9
4) +

27
6 = −I1 +

3
2 −

9
4 +

27
6

= −I1 +
15
4

I1 =
∫ π

3

0 tanθ dθ =
∫ π

3

0
(−cosθ)′

cosθ dθ = [−log|cosθ|]
π
3
0

= log2 なので
∫ π

3

0 tan7θ dθ = 15
4 − log2

1


